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Calculation:
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B = e o e e e = 0, DTATE

A= - ( {x )=

{y.{x= ~ {xn.{xny

T = B HO9E4

A= - ( (s 1=

ni{xy - {x.{y
o= e e Seme = 0,401754
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Linear regressicn equation: Y = a + b X

is @ Y = S5R.60924 + Q.274293 X.
and .= 0.401756
Coefficient of determination = i1&.14%
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1. Hypothesys formulation:

Ho ¢ r = 0 3 there is no corelation between X and Y.
Ha ¢ r # O ; there is a correlation between X and Y.

2. n =101 , 5% significance level,. r tabel = 0.195
Ho is rejected if + calculation » r tabel.

3. Conclutions:

Since r calculation = OL4017 * r tabel, Ho is
rejected.

So there is a significant correiation between X and

¥
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Calculation:

Fol = e e = 0L 370091

R - = 47.239%4
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is = Y = 47,23984 + 0.3I70091 X ,

and .- "+ r = 0,586443
Coefficient of determination = 24,397
===================.'=:==========:====::==:======.—_=‘.‘_“====

TEST OF CORELATION SIGNIFICANCE:

1. Hypothesys formulation:
Ho : r = 0 3 there is no corelation between ¥ and Y.
Ha = r # 0 3 there is & correlation between X and Y.

»
g~

2. n =101 , G¥ significance,level, r tabel = 0,195
Ho is rejected if r calculation » r tabel.

3. Conclution:
Since r calculation = 0.5864 > r tabel, Ho is
rejected.
So. there is a significant correlation between X and Y.
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&480 .25
$320.25

T 4489, 00

44692.25
6084 .00
2209.00
2446 .44
7708.94
S329.00
3540.25
4489 .00
{290,225
4489 . Q0
ABOGH. 25
249 .00
L9T72.25
27546 .25
G480, 25
GO i L 00
7744 ,00
S929.00

5299.84

4BGH.25
HA400 QO

5625. 00
5402.25
5852.25
5407 .25
5320, 25
3969 .00
&320.25
5625 . 00
3184 .,00
4554 .25
5561.00
4356.00
6561,00
5184 .00
5402 .25
6084 . 00

b3I20.25

- 6B06.25

9184.00
4160.25
4384.00
NE52.25
H320.25
4806 .25
53402.25
6320.25
7056.00
GE20.25
4356 .00
4Q70 .25
9882.29
6461 .00
4970.25
L8004, 26
7056 .00
De20.00
3080 .20
ALOHO.25
6804, 25
080,25
ag82. 2%
4761 .00
7034.00
29L&4.Q0
3184 .00
J&H00, 00
6906.235
L5461 .00
7084 .00
[4PT0 .25
6320.25

Q437 .30
44895, 50-
f4G34.325
456567 .25
S065.00
4Q32,00
4996 .00
D862, 20
4392.00
L0227 .78
S508.00
82646 .80
6399 .00
2l12.00
45837 .00
G279 .00
o04g.25
7Q12.50
220,00
D321 .25
2511.00
aO6L .45
6ls1.25
7837 .30
3893.50
o684 .25
LP72.00
HIAPR.75
S247 .00
A4723.50
240,25
HZ18.00
3E1E. 50
&088. a0
T375.20
S475.00
BF02.23
4321, 850
Q403,75
3718. 50
G6311.23
S933F. 00
7014 .00
2835, 00
DTG é .00
AZ2E0 .00

260,00
H2E7 .00
6lis. 20
4788,.73
H3G0H .00
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Calculation:

Q. 348039

b ED e e e e o e e i e e s o st i e e e

R S — = (.525499

T e e e e o o e S s P, S0 05 i s - et e e 45 e e i i S S i . s

Linear regression equation: Y = a + b X

is @ Y = 48.37298 + 0.34803% X
arncl == 0Q,525499
Coefficient of determination = 27 .617

mEmomas s T N N S T S T r T e i

e e e e s e e o s s - S . B b e e s B e S

1. Hypothesys formulation: -
Ho @ r = 0 3 there is no corelation betwesn X and Y.

Ha : r # O ; there is a caorrelation between X and Y.

2. n =101 , 5% significance level, r tabel = 0.195
Ho is rejected if r calculation > ~ tabel.

3. Conclution:
Since r calculation = 0.5254 > r tabel, Ho is

rejected.
So there is a significant correlation between X znd Y.
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